Cll# Boienenne necsaTkoB Nwmsi:

Boigeaure HECATKH, 4TO0BI pPe€uIinThL NPpUMEPLI. O TBETbI

) 6+9=6+ 4+ 5 515

10 + 5 =15 T

D 7+46=7+ + B

=
_I_
I

|

) 5+47=5+ +

) 6+6=6+ +

h 5+6=5+ +

5 8§8+8=8+ +

6) 7+8=7+ +

N 6+8=6+ +

1-7 [86]71[57[43[29]14] 0 |

E\/IaTeMaTI/IKa www.CommonCoreSheets.ru 8




‘:llj_lj—‘ BBU_Ie.HeHI/Ie ACCATKOB Nwms: Ka04 K NIpaBUIbHBIM O0TBETAM

Boigeaure HECATKH, 4TO0BI pPe€uIinThL NPpUMEPLI. O TBETbI
4 5

) 6+9=6+ 4+ 5 ER
13

10 + 5 =15 T

—
[ 5]

—
[ 5]

-
=

D 7+6=7+3+3 N nlE
10 + 3 =13 o :6
- S
D 5+7=5+5+2
10 +2 =12

) 6+6=6+ 4 + 2

Y 5+6=5+5+ 1

 8+8=8+2 + 6

6) 7+8=7+ 3 + 5

D 6+8=6+4 + 4

1-7 [86]71[57[43[29]14] 0 |

E\/IaTeMaTI/IKa www.CommonCoreSheets.ru 8




